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Q 1. Group 2A elements in periodic table, in their 

compounds, always have an oxidation state of  ……

A. +1

B. +2

C. -1

D. -2



Q 2. Group 7A in periodic table, in their compounds, always 

have an oxidation state of  …….

A. +1

B. +2

C. -1

D. -2



Q 3. The resulting bond due to transfer of  electron is …..

A. Covalent.

B. Ionic.

C. Metallic.

D. None.



Q 4. Polar covalent bond is usually formed by unequal 

sharing of  electrons between …….. .

A. Two metals.

B. Metal and nonmetal.

C. Two nonmetals.

D. None.



Q 5. ……… formula shows the simplest whole-number ratio 

of  atoms of  each element in the compound.

A. Molecular.

B. Empirical.

C. Structural.

D. Ball-stick



Q 6. 105 g MgCl2 contain ……… mol. (Mg = 24.3, Cl = 35.5).

A. 105.

B. 6.62 x 1023.

C. 1.10.

D. 1.76.

Hint



Q 7. The correct name of  MnO is ………. .

A. Manganese oxide.

B. Manganese (I) oxide.

C. Manganese (II) oxide.

D. Manganese (III) oxide.



Q 8. The correct name for FeS is ……………. .

A. iron (II) sulfate.

B. iron(III) sulfide.

C. iron (II) sulfide.

D. ferric sulfide.
Hint

Fe : Group B  (transition 
elements).
Fe(II) = ferrous
Fe(III) = ferric



Q 9. The formula for magnesium sulfate is ……… .

A. MgSO3.    

B. MgSO4.

C. Mg(SO4)2.

D. Mg2SO4.



Q 10. The formula of  ammonium carbonate is ………… .

A. NH4CO3.

B. (NH4)2CO3.

C. NH4(CO3)2.

D. None.



Q 11. The name of  P2O5 is ……….. .

A. Phosphorous oxide.

B. Phosphorous pentoxide.

C. Diphosphorous pentoxide.

D. Diphosphorous oxide.



Q 12. Calculate the mass percent composition of  carbon in 

Al2(CO3)3.    [ Al = 27, C = 12, O = 16]

A. 10.51.

B. 15.38.

C. 23.07.

D. 51.04.



Q 13. The empirical formula for a compound that has 

25.93% N and 74.07% O by mass is .……… .

A. NO2.

B. N2O5.

C. N4O9.

D. N2O4.



Q 14. The molecular formula of  a compound that has a 

molar mass of  180 g/mol and an empirical formula of  CH2O.

A. CH2O.

B. C6H12O6.

C. C3H4O3.

D. None.



Q 15. The coefficients (a, b, c, d) needed to balance the 

chemical equation 

a C3H8 +   b O2 → c CO2 +   d  H2O

A. 1, 3, 3, 4.

B. 1, 5, 3, 4.

C. 1, 5, 4, 3.

D. 1, 5, 3, 5.

Hint

Balanced equation:
Contains same no. of each 
kind of atoms on both sides 
of the equation.



Q 16. The coefficients (a, b, c, d) that make the following 

equation is balanced are ……… .

a PCl5 +   b H2O    → c H3PO4 +   d  HCl

A. 2, 4, 2, 6.

B. 1, 3, 1, 5.

C. 1, 4, 1, 5.

D. 2, 8, 2, 10.
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